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MeTo 0TOOpaKeHUS
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Meton oToOpakeHus

X, %
Xy X, X3 O O

0

0

1

0

0
1
0
1
1
0
1

01
10
11

A

01
10
11




Meton oToOpakeHus

X,Xs  F(00) = F (00)

00 < 00
F(01)=F (00)+F (10)
01 :o1

F(10) = F (01) + F (11)

10 10
F(11)=F (01)+F (11)
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Meto 0oToOOpaXkeHUS

01 01

102 ;%}10

11 11
X_, X ,

ecTBO nap
X X5 Xg Xer %5 X5 Xg Xg1 Xg X9 X310

1 1 1 1 1 1

5 8 13 21 34 55
/7 12 20 33 54 88
/7 12 20 33 54 88

X,, X X

Xy X 3 3774 4

1772

1
2
2
2

T e T e T
~ A W -




3agaHus U1 TPEHUPOBKM:

3apaHue 1.

(X1- (x> x3) +x1- x5, =1
Xz (x3 > x4) +x3-x3=1
1 X3 (s> x5) tx3-x,=1

\Xg ' (X9 = X19) + X5 X9 =1

3apaHuve 2.

(x1 2> (x,=x3)=1
X, > (x3=%x4) =1
X3 = (X4 =%x5) =1

=7

(Xg = (X9 = x19) = 1

3apaHue 3*.

B Tabnuuy Bbinncanun sce
peLleHnst ypaBHEHUS
F(x1, X,, x3)=1

CKONbKO peLlueHni umeeT
cucTtema ypaBHEHUN:

X, X, X,
0
0 0 1
1 1
0
1 0 1
1 0

(F(x4,X5,%x3) =0
F(x,,%x5,%,) =0
F(x3,x5,x5) =0

N

\F(xg,Xg,%45) =0




J1OTIOJTHUTENBHBIE YCIIOBUS

(12 %)+ (2 x3) =1 00 OO
(X 2> x3)+ (x; 2 x4) =1 01

< 01
(g = %o) + (g = X30) = 1 102 ém
x; =0
.
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J1OTIOJTHUTENBHBIE YCIIOBUS

(12 %)+ (2 x3) =1 00 OO
(X 2> x3)+ (x; 2 x4) =1 01

01
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(xg = Xo) + (Xg = Xg0) = 1 102 ém
\ Xs @D xe =1
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J1OTIOJTHUTENBHBIE YCIIOBUS

(- x)+ (@2 x)=1 00~ 00
(X = x3) + (x; 2 x,) =1 01

< 01
Xg = Xo) + (Xg = X10) =1 10 §10

X =0

.
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J1OTIOJTHUTEIBHBIC YCIIOBUS

(a=m)+(u=x)=1 x = Qg xg =0 00<— 00
(X, 2 x3)+(x; 2 x,) =1 1 > 01

{ 01
(xg = xg) + (Xg = x40) =1 10 10

\ X1 = X5 2 iz,

.
Mapa

1 1 1 1 1 1 1 1 1
1 1 2 0 5 1 6 7 13
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0 1 2 0 0 5 6




J1OTIOJITHUTEIBHBIC YCIIOBUS

(= 2x,) + (X 2 x3) =1 . = e =1 52
(xz_’x3)+(x2_’x4)=1 s >

(xg = xg) + (xg = x10) = 1

b= OTBeT: 1P?Hl§_t|lﬂ|z|vu‘/’|

KonuyectBo nap
Mapa
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3agaHus IJIs TPEHUPOBKHU

3aaaHue 4. 3agaHue 5.
(X 2 %)+ (X0 %3) =1 (X1 2 %)+ (X %3) =1
(X =2 x3)+ (X3 x4)=1 (X =2 x3)+(x3°x4)=1

(X3 =2 x,)+ (x5 %5)=1 (X3 2 x4) + (x50 x5) =1

.

(xg = xg) + (Xg+x10) =1 (xg = %) + (X9 x10) =1
L X2 - 1 L X6 = X7 - 1
3agaHue 6%,

(X1 = X3) + (X3 %3) =1
(X2 2 X3) + (X3 %) =0
(X3 2 %4) + (X4 %x5) =1

e

((Xg = Xg) + (X5 X10) =0




